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TOURISM ADMINISTRATION AND MANAGEMENT '
Paper III
Time Allowed : 2% Hours] ) [Maximum Marks : 150

Note :— This paper consists of seventy five (75) multiple choice questions. Each

question car"rying two (2) marks. Attempt all of them.
E Which of the following statements is true ?
(A) Tourism is devoid of cultural enrichment
(B) Tourism can be a lever for social change
(C) Tourists are devoid of any cultural change
(D) Tourists never like to visit non-religious places

2. The process and the results of interaction between different cultures is described

in sociological terms as :
(A) Combination of cultures (B) Mingling of cultures

(C) Acculturation (D) Socio-religious cultures

TBC : 49/13/ET-III 2
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3. What is the main purpose of travel in international tourism ?
(A) Education
- (B) Business
(C) Holiday (Vacation)
(D) Visiting friends and relatives

4. In the question given below there are two statements, one labelled

Assertion (A) and the other labelled as the Reason (R).
Assertion (A) : Ecotourism and Geotourism are being promoted.

Reason (R) : Need of the hour is to reduce the pressure of conventional

| and cultural tourist resources and destinations.
In the context of the two statements, which of the following is correct ?
(A) Both (A) and (R) are true and (R) is correct explanation of (A)
(B) Both (A) énd (R) are true but (R) is not correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

TBC : 49/13/ET-111 4
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B Which country is nearest to the South Pole ?

(A) Australia

(C) Chile

(B) New Zealand

(D) South Africa

6. This consists of two lists of Waterfalls and Rivers. The candidate has to match

an item in one list with an item in the other and choose the correct answer

from the codes given below :

List I

(@) Jog

(6) Punasa

(¢) Motijhara

(d) Dhaundhar

Codes :
(@)
(A)  (4)
B) 3)
C) (4
M @

(b)

(1)

(1)

(2)

(2)
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List II
Chambal
Ganga
Narmada

Sheavati
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Ts The sites those recognizing the fundamental ecological functions of
wetlands and their economic, eultural, scientific and recreational values are

known as :
(A) Manoram sites
(B) Bhraman Vikas sites
(C) Ramsar sites
(D) Krishna sites
8. Consider the following statements :

(1) Vimana was the main features of the Dravida style of Temple

architecture.
(2) Kamban, the Tamil writer, wrote Ramayana in Tamil.

(3) The popular saints Nayanars and Alvars encouraged the growth of

literature in the local languages of the South.
Which of the statements given above are correct ?
(A) (1) and (2) (B) (2) and (3)

(C) (1) and (3) (D) (1), (2) and (3)

TBC : 49/13/ET-III 8
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9. Dakshin Gangotri and Maitree are the bases in :

(A)
(B)
(C)

(D)

Above the Gangotri Glacier
Near the Gangotri Glacier
Below the Gangotri Glacier

Antarctica

10.  Series of overlapping averages is called :

(A)

(C)

Past averages (B) Moving averages

Future averages (D) None of these

11. The main limitation of coefficient of correlation is that :

(A)

tB)

(C)

(D)

It does not assume a linear relationship between independent and

dependent variables, which may not always be true.

It assumes a linear relationship between independent and dependent

variables, which may not always be true.

It assumes a linear relationship between independent and dependent

variables, which always be true.

It assumes a linear relationship between independent and dependent

variables, which may or may not always be true.

TBC : 49/13/ET-III 10
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12.  According to Maslow’s theory of needs of hierarchy, by principle :
(A) Higher order needs would be satisfied Aﬁrst
(B) Lower order needs would be satisfied first
(C) There is no paﬁtern of ;atisfacﬁon of needs of an individual
(D) Needs and wants are one and same thing

13. “Leadership may be described as the quality of behaviour of individuals whereby
they guide people on their activities as organized afforts.” This definition of

leadership was put forward by :
(A) Karl Marx (B) David Coperfield
(C) Chester Bernard (D) D. V. Smith

14. Assertion (A) : Creating sub-brands—a technique that was developed in
the hotel groups/chains for attracting various tourist

segments.

Reason (R) :  Fortune’ and ‘Vivanta’ are the budget category hotels of

Welcome and Taj group of hotels.
(A) Both (A) and (R) are true
(B) Both (A) and (R) are true, but (R) is not the correct explanation
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

TBC : 49/13/ET-III 12
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15. The hotel classification system insists that the number of reliable rooms
(under 1 grade) be equal to or more than a fixed number. Why is that

so ?

(A) The government assumes that at least this much number of guests would

check into that category of hotel
(B) The government has given such numbers after random calculations

(C) If the number of rooms in a class is equal to or more than the specified
number, then the hotel would maintain them and also, be able to

accommodate as many guests as the number of lettable rooms
(D) The inspection team would be pleased
16.  “Virgin Pinacolada’ and ‘Fruit Punch’ are :
(A) Classical cocktails served in hotel bars
(B) Classical mocktails served in hotel bars
(C) Brands of liquor served in hotel bars

(D) None of the above

TBC : 49/13/ET-III 14
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17.  An aircraft is coming to Delhi from Baghdad via Oman. During journey vacant

aircraft seats are perishable products because :
(A) Seats of aircraft cannot be sold by the net

(B) Once the aircraft is airborne, the vacant seats before arrival at Oman

is a loss to the airline
(C) The aircraft cannot account for the expenses of the vacant seats
(D) None of the above
18.  Shimla and Mataur is connected by :
(A) NH 88 (B) NH 87
(C) NH 86 | (D) NH 85

19.  Point out the year in which first Bermuda Air Agreement contracted between

the USA and the UK :

(A) 1936 ' (B) 1946

(C) 1956 (D). 1966
20.  Chitwan National Park is located in :

(A) India | (B) Nepal

(C) Burma (Myanmar) (D) Indonesia

TBC : 49/13/ET-III 16
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21.

22.

23.

Antibes coastal resort is located in :

(A) Mexico (B) France

(C) Kenya (D) Netherlands

Countries of the New world where Spanish or Portuguese is spoken :
(A) Australia (B) Africa

(C) Far-east countries (D) Latin America

Match the following Passes of Himalayas with respect to' states of their

locations and choose the correct answer from the codes given below :

List I List II
(@ Nathu La (1) Kashmir
(b) Burzhil : (2) Sikkim
(¢) Bhana (3) Himachal Pradesh
(d) Shipki La (4) Uttarakhand
Codes :

@ B @ @
a & @ O @
B @ @O @ @
©c @ @ @O @

o @O @ @ @

TBC : 49/13/ET-III 18
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24. Palk Strait forms resource for :

(A) Ecotourism (B) Geotourism

(C) Religious Tourism (D) All of these

25.  This consists of two lists of states and wildlife/national parks. The candidate
has to match an item in one list with an item in the other and choose the

correct answer from the codes given below :

List I List II
(@) Tamil Nadu (1) Sunderban
{b) West Bengal (2) Dachigam
(¢} Kashmir (3) -Manas
(d) Assam (4) Mudumalai
Codes

(a) (b) (¢) (d)

Ay 4 @ @2 @)

By (3) (1) (4) (2)

C) @ 2 Q) 3

Dy @O (@2 @) (@
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26.

The Nagara, Dravida and the Vesara are :
(A) The three main racial groups of the Indian sub-continent

(B) The three main linguistic divisions into which the languages of India

can be classified
(C) The three main styles of Indian temple architecture
(D) The three main musical Gharanas prevalent in India
The term ‘rural tourism’ denotes :
(A) Horticultural tourism
(B) Agricultural tourism
(C) Rural people visit villages
(D) Travel to countryside destinations

A meeting of UNESCO Committee on world heritage sites is stated to be held

at :
(A) Peking (B) Phnom Penh
(C) Paris (D) Pushkar

'BC : 49/13/ET-I111 22
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29.

30.

The term ‘common interest tourism’ describes :

(A) group travel by people with the common interests

(B) group visits between -‘twinned’ towns only

(C) visits with a purpose significantly shared by the visitor and the
visited

(D) a synonym for visits to friends and relatives

Which of the following pair or pairs is or are correct ? Choose your answers

from the code given below :

(1) Vedas : Knowledge

(2) Upanishads : Self-knowledge
(3) Quran : Hidayas

(4)  Tarmud : Codes of Rabbinic law

Codes :
(A) (1) and (2) (B) (2) and (3)
(C) (2), (3) and (1) D) (1), (2), (3) and (4)-
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31.  For tourism knowledge and study which subject is the most relevant :

(A) Computer science (B) Management

(C) Business study (D) History, Heritage and Culture

39  In India Tourism is not growing as per expectations because of the

reasons !

(1) Ministry of Tourism is unable to identify the real cguse of its failure

(2) Ministry of Tourism is not focusing on research in indentify the ways

and means to promote tourism

(3) Ministry of Tourism is giving more importance to the stake-holders than

the researchers and the academicians

(4) Lack of co-ordination among the concerned ministries, like tourism, health,

and culture

Indicate the correct reason or reasons :

(A) (1) only (B) (1) and (2)

(C) (1), (2), (3) and (4) (D) (1), (2) and (3)
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32.

TBC :

(A)

(C)

1

(1)

(2)

(3)

(4)

31. W & §F IR wemms & fau www favm geaw uefe § 2

R GO Z I (B) Wa=H

MR 3T (D) sfoerm, W R HERfd
m%ﬁ,wﬁqﬁmﬂﬁa@w%?

T FAT SN ® el AU A fatwm w3 A swwd §
e T T B N 3 F aiF SN W # emEYM W Em
T2 W ¥ |

e e SRS iR fagE # sRer wefe ® e e
T W ¥

T, W R TERfd S gEiyd §eedl H 99y s wHl

W& SW T 3w @ fafea wifeg

(A) FFa (1) (B) (1) &R (2)
(C) (1), (2), (3) &R (4) (D) (1), (2) ¥R (3)
49/13/ET-111 27 | P.T.O.



33.

34.

36.

TBC !

Vallathor Menon played an important role in the development of the following

dance :
(A) Kathakali (B) Kuchipudi
(C) Bharatanatyam (D) Odissi

If you have visited Mater Weiterfall, Harison waterfall, Simpson water reservoir,
Walras water reservoir, Ram Mandir and Charlottee lake, you are having

a nice trip to :
(A) Ooty (Tamil Nadu) (B) Kodai Kanal (Tamil Nadu)
(C) Matheran (Maharashtra) (D) Balasore (Odisha)

The valley of flowers which is located near the following hill station in

Uttarakhand, is :

(A) Badrinath (B) Kausani

(C) Udhampur . (D) Joshimath

l.oktak and Majuli are world famous tourist attractions because :
(A) These are Botanical Gardens

(B) Loktak is Botanical garden and Majuli is Wildlife Reserve

’ (—C) Loktak is Lake and Majuli is River Island in North-East India

(D) Loktak and Majuli are Fish Aquariums of Lakshadweep

49/13/ET-I11I 28
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37.  In Delhi., recently which excavated building has been discovered ?
(A)  Shiv Temple (B} Akbari Mosque
(C) Shah Jahan Mosque (D) Jahangiri Mosque 1

38.  The dish ‘Lal Maas’ belongs to which cuisine ?

(A} West Bengal ‘ (B) Kashmir
(C) Rajasthan (D) Madhya Pradesh

39.  Point out the organization which has initiated. ‘Clean India Compaign’.il
Particula.rly to 'spruce up heritage sites and other sites of monuments :
(A)  Cultural Ministry (B) Archeological Survey of India
(C) [NT{\CH (D) Ministry of Tourism

10. Information about the actual duration of visit by foreign visitors to a count

is most reliably obtained from :

(Al Accommodation

(B) Transport record

(C) A survey of arriving (incoming) yisitors
(1)} Survey of departing (returning) visitors
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37.

35.

39.

40.

e

o @ § feocl § meE @ dRE B wRa @t T ¥ 2

(A) fmm ==z (B) sm@adt mfe

(C) el H AfER (D) R "iEE

‘Tl A SR wEl #1 UeE § o

(A)  ufeed = (B) w¥HR

(C) TsEaH (D) T WY
w@ﬁﬁﬁﬁmﬁ@ﬁmmmﬁnmaﬁm%m
(A) u@ﬁam (B) %mﬁagmaaém

(C) ¥¥eH (D) wEHA HAE

fadyit smE ® Svouw @ wE sEd F gE fved w9 Y we F A W
g&dl T 2

(A) HEE |

(B) ufEe e 4

(©)  wEE aRen 9@ qEe @ wdew ¥

(D) =yl # fag /S & mAew j
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41.

42,

43.

TBC ;

Spice Island is located in the country :

(A) India : | (B) Australia

(C) Zanzibar | (D) Ethiopia

Which- is the essential part of research proposal ?

(A) Objectives ; (B) Data collection

(C)  Hypothesis (D) All of these

The major drawback to use questionnaires in research is that :

(A) It is appropriate only for subjects with a considerable amount.

education

(B) It always requires approval from civic and concerned authorities

(C) Both (A) and (B) are correct
(D) Both (A) and (B) are incorrect
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41.

42.

43.

e g9 e 2w A ¥ 2

(A) 9Rd | (B} e feran

(C) S=ileR ~ (D) zgfr

TG TEY F TEYEE HU N 8 ?

(A) R .(B) HHS Thg HN

(C) ufmegr ’ (D) A |t
mmﬁm%mmﬁa@wm%ﬁ:

(A) w_mﬁ-mamm%mwma

(B) z9H whW TE I o AUHIE @ WPl F NevER@ TS

T
(C) (A) 3R (B) o Wl €

D) (A) 3R (B) I ToW ¥
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44, Two groups of Tourists and their expenditure (Rs.) in thousand is given

below :

Group A : 60, 61, 63, 64, _65, 69

Group B : 30, 60, 61, 80, 85, 86

which of the following statements is correct ?

(A) Total expen.ditu}'e of Group A and B is same
(B) Average of both group is same

(C) Range of group A is 9 and that of B is 55
(D) All above are correct

45. Who define organization as form of every association for the attaintment of

a common purpose ?
(A) Philip Kottler (B) Adam Smith

(C) Mooney and Rayleigh (D) Robinson
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44,

45.

N s wgE w1 @ (R wTE F) R g o

THE 3 : 60, 61, 63, 64, 65, 69

ogE « : 30, 60, 61, 80, 85, 86

frefafes § = F09 @& ¢ 7

A) (3) ﬁn(a)aﬁv@.quwﬁ%
(B) ﬁu@'%@waﬂm@ﬁ%

(©) (a)mﬁh9%ﬁﬂ(a)mﬁ$s
(D) Sw= w4 W& €

T F fEEY 9 vaeE F Wi @ fag e T ude e w9 A Ry

fear ?
(A) fwfag wreeR (B) TsH =y
(C) W R W (D) Ua=A
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46. In Tourism research steps would be taken to ensure that :

(A)

(B)

(C)

(D)

Scholar must have command on the selected theme

There should be cordial relationship and mutual trust between scholar

and supervisor

The survey is under statistical control so that the collected information

is in accordance with the pre-defined standard of accuracy

Format of the work is in sequence

- 47.  “In Tourism research objectives setting by nature are :

(A)

(C)

Independenf ; (B) Interdependent

Cumulative (D) Derivatives

48.  Which company is large trader in the buying and selling of foreign currency

bank notes ?

(A) Swiss Financial Ltd.

(B) Thomas—Cook Gréup of Companies
(C) Robinson—Gate Group of Companies
(D) Messy—Furguson Group of ComI.Janies
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46. Wﬁuﬁ%gﬁﬁaﬁmﬁmwmﬁﬁﬁ:
(A) uwd # g v | @ TS @
(B) sﬁmaﬂtmﬁm‘wﬁiaﬂtmma

() ﬁmmﬁaﬂ'ﬁémmwaﬁqﬁwqﬁ—vﬁm

qEUEl & IHEY @
.(D) mwmwﬁﬁ
 -47. m@uﬁeﬁﬁwﬁwmm#:
(A).'W'&ﬁ?ﬂ%’ (B) erAmEE Bl ©
() wwE AT (D) sgﬂﬁmam%
48. ﬁ%sﬁgar@ﬁmﬁﬁ@ﬂzfmﬁa@ﬁmrﬁam‘ﬁW%?
(A) fem wEAtEe f@fes
(B) 9WE FF ®A IS
(©) eoEa—Te F T
(D) mqummw
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49. Regular organised air transport began in India in :

(A) January, 1920

(C) April, 1857

(B) April, 1922

(D) May, 1938

50. This consists of two lists of cities and Airline codes. The candidate has to

match an item in one list with an item in the other. Choose the correct answer

from the codes given :

List I

(a)  Bagdogra

(b) Bhuj

(¢) Ranchi

(d) Vadodara

Codes :
(a)
A @
B) @
< @
o @

(b)

(1)

(2)

(4)

(2)

TBC : 49/13/ET-III
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_(e)

(2)

(3)

(2)

(3)

(d)

(3)

(1)

(1)

(4)

38

(1)

(2)

(3)

(4)

List II

BHJ

IXR

BDQ



49, wra # fafoe wnfie ok oiess &9 E g@©T ?

(A) SFed, 1920 H

(C) 30, 1857 H

(B)

(D)

e, 1922 #

e, 1938 H

50 T G e Efam I F el ® Am ¥ ool faw I R wwfE |
@%I@W%aﬁmﬁ@ﬁm@ﬁmaﬂmamﬁﬁa

@@F’ﬁﬁ'{ﬁ%:

fae 1
(@ TR
(b) 4
(¢) T
(d) w=Rd

@ @ © @
A @ @O @ @)
B @ @ @ @
€ @ @@ @ @

o @1 @ @ @
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51.  Which one of the following is not under the administrative control of the Ministry

of Railways

?

(A) CONCOR

(C) IRCON

(B) RITES

(D) AMTRAK

52.  This consists of two lists of types of journey and itinerary. The candidate has

to match an item in one list with an item in the other ‘and choose the correct

answer from the given codes :

List 1

(@) Round the world

(b) One way

(¢) Open jaw

(d) Circular trip

Codes :

(@)
A @
(B) (4
(C) (3)
D) @

%)

(2)

(1)

(1)

(2)

TBC : 49/13/ET-I111

(c)

(1)

(2)

@)

(3)

(d)

(3)

(3)

(4)

(4)

(1)

(2)

(3)

(4)

List II

BOM-CCU-PAT-IXU

DEL-JAI-BOM-BLR

DEL-KHI-DXB-DEL

DEL-PAR-WAS-TYO-DEL



51, fmfafed § @ 39 9 T=0E $ wwEhs GEen § a8 ¥ 2

(A)

(C)

FHAFT
EEat

(B)

(D)

T

HAZIh

52. =El T yHR H1 gfeaf T TE Al & WEY & 9 7 SR gEl HEEH & AR
H| vgell G H B FH gHA Gt B o ¥ fAem wT ¥ oawn A 3

2 ¥ FE OIW LT
et 1

U3 € doe

(@)

(b)

(e)

(d)

(A)

(B)

(C)

(D)

a9

A9q

weEeR g4

(@)
(4)
(4)

(3)

(1)

(b)

(2)

(1)

(1)

(2)
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(1)
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(2)

(3)

(d)

(3)

(3)

(4)
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(1)

(2)

(3)

(4)

‘;Eﬁ II
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53. What does a fly drive tour involve ?
(A) Taxis and ferries
(B) Aircrafts and cars on rent, stay in hotels etc.
(C) Sea cruises, air travel and taxi
(D) None of the above
54. All the Boeing-737 aircraft of the AI being operated by :
(A) Al ' . ' (B) Jet Airways
(C) Alliance Air (D) Air Sahara
55. The headquarters of North-East Frontier Railway are located at :
(A) Malegaon (B) Kolkata
(C) Bengaluru (D) Gorakhpur
56. In which Indian classical dance form even female role is played by male ?
(A) Bharatanatyam (B) Kathakali
(C) Manipuri (D) .Odissi
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53, T gEd =X A @ ufefed € 2
(A) Sl R AR
®) @ e SR wR e e, ® T e
(C) TR T, TR A SR e |
(D) sqﬁaaﬁﬁaﬂs‘%ﬁ
54. Wsﬁmaﬁwaﬁnqwmaﬂ?ﬁmaﬁﬂmm%?
(A) wsﬁ@f (B) ST TSRS
(C) 3EEE TR (D) W Fe™
55. @m:ﬂmw%g@mﬂmﬁ%?
(A)  HETE (B)  ShIctehral
©) (© ER
56. Wwwﬁﬂaﬂa&mﬁ?ﬁﬁnéwaﬁs@msﬂwm%?
(A)  vREAEH (B) ®AHal

(©) =forgd (D)  sifsHE
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57.

' 58.

59.

60.

The following country or countries is/are not included in the category of ‘Visa

on arrival’ facility by the Indian Governments :
(A) Pakistan - (B) Iraq
(C) Austria (D) All of these

Which of the following tourist facilities and services are likely to be most

labour intensive ?

(A) Car renf:al d (B) Time share holiday homes
(C) Travel agencies (D) Motel

In which ‘state of India is Bhitakanika Mangrove -7

(A) Assam (B) Karnataka

(C) Jharkhand | (D) Odisha

Name the document which was issued by the Mughal imperial power to the

foreign visitor ?
(A) Firman (B) Dastur-ul-amal

(C) Dastak (D) Cartez
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57.

58.

59.

60.

m/ééﬂmﬁﬁmwaﬁ‘ﬁwmmaa'ﬁavﬂﬁgﬁm

# e W& e T o® 2

(A) TR (B) 3IUH

~

(C)  HAifea (D) A

ﬁwﬁf@aﬁﬁaﬂmmgﬁwﬁaﬁtmm-mgﬁaﬁm

g2
(A) R Tvzd £ (B) 9Hd IR G TR
(C) Fa T | (D) W«

Rt F95 aeta yRa ® fHe T ' 7
(A) 3WH (B) wHAZH
(C) FREvs (D) sffeem

Wwﬁwmﬁﬁﬁaﬁaﬁﬁﬁmmﬁmﬁmww

o ?
(A) HEM (B) TE-3A-3HA
(C) TEH (D) =R
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61. The guest enters into a large hotel from its :
(A) Lobby (B) Reception
(C) Front office (D) Restaurant

62. If a golf course, horse-riding track and casino have been provided within the

premises of a hotel, then it is a :
(A) Heritage Hotel (B) Resort
(C) Motel . (D) Boatel
63. Full pension plan is also known as :
(A) American Plan . (B) Modified Americap Plan
(C) European Plan (D) Bermuda Plan

64.  Which year is considered as a bench mark for declaring a property as a heritage

hotel ?
(A) Before 1850 (B) 1850
(C) 1900 (D) 1950
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6l. TE 92 Bed § HeHH wE ¥ WAY HEl § 2
(A) fel ® (B) w&ra & ¥
(C) EWY & TR 9 A D) =0 4

62. ot fwdt Bew ® Tew wE, geuad &, Jownen (HEA) w1 glasn aiwR

ﬁﬁ"‘e‘%?ﬁﬁ:
(A) s ded ¥ (B) T %
©) ¥H=|E (D) @Ra %

63. TO Ty A W HY I SR ' O?
(A), 3W{HA =@M (B) wHvifad wdsd =

(C) FfTEa <@H (D) THS =

64. Tt gmfa #1 RS fea dfw w0 & fau e ad = d@fes a9 S«

g ?
(A) 1850 & UEA (B) 1850
(C) 1900 (D) 1950
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65. What is the main feature of a time share establishment ?
(A) It is a private property

(B) Its rooms are shared by guests/tourists according to specified time

schedules
(C) It is a facility of 1 grade
(D) None of the ab(;ve
66. Which one of the following is not available in the in-flight menu ?
(A) Beer | (B) Red wine
(C) White wine (D) Cigarettes
67. An executive suite has all the amenities and resourées/gadgets for :
(A) Business operations (B) Video projection

(C) Telecommunication (D) Room service
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65. mﬁmﬁwﬁmg&aamw%?
(A) a‘sﬁvﬂmﬁr%
(B) mwmﬁam—ﬁa%wmm&aﬁmwfaﬁm%
(C) W1ﬁ€iﬁgﬁm%
(D) SudF H & HE T
66.‘mw%mﬁﬁﬁfaaﬁ@aﬁwmqﬁﬁmﬂﬁﬁm?
A) faR B) & &
(C) = A (D) fame
617. ﬁﬁm@z(q;).ﬁa%aﬁgﬁﬂﬁﬁnwmm%ﬁﬁﬁaﬁm:
(A) m%ﬁﬁﬁ?ﬁ%
(B) fedh o & fag @ @
(©) =R & fou @t ®
D) R A T w glawn B T
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68. Name the founder of Oberoi group of Hotels :
(A) Mahavir Singh Oberoi EB) Mohan Singh Oberoi
(C) Mahipal Singh Oberoi (D) Mghipat Singh Oberoi
69.  Which of the following is not a technique of Deinand forecasting ?
(A) Delphi technique (B) Correlation analysis
(C) Direct der'ivatiori (D) Chi-square analysis
70.  Cognitive dissonance :

(A) is a tendency of the buyer to purchase the cheapest brand available in

the world
(B) is the pre-purchase research activity carried out by prospective buyer

(C) is the frustration about the product/service that develops in the mind

of the buyer after he has purchased it

(D) is the set of bargaining tools that a buyer uses to get the best deal from

the seller
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68.

69.

70.

Ao BeE e % GAUS H AW AR

(A) TEER fag e (B) ¥red faw slerm

(C) i fag sie | D) wfewa fie e
Frefefer & FE feure BRERET ®1 qhAE el § 7

(A) STHI TEAS _’ (B) wewwry fawermm

(C) vy Fa= '(D) FrE-TaR faverem
Ffafes fewdw =01 & ?

A) wieR F fwa § e g A B e w1y

(B) .w@ﬁaﬂmﬁﬁaﬂz@mﬁ@a
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aﬂaﬁmm‘.
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71.  Match List I and List IT and select the correct answer using the codes given

below the lists :

List I List II
(@) FAM trip users ; (1) wusing a number of tourism
products
(b) Marketers (2) should be opinion leaders
(¢) Tourism expansion is the (3) should bc; expert in identifying
result of and satisfying needs |

-

(d) Tourism market cannot exist (4) without services
Codes :
(@ B (@ (@
A) @2 @3 (1)' 4)
B) @2) @ (1O 3
c B3 (@2 @ @
D @ @ @ @

72.  Which one of the following is not a part of content factors in the context of

Tourism Marketing ?
(A) Park (B) Museum

(C) Airport-hotel transfers (D) Bank
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7. Wlﬁﬂxﬁillmﬁaﬁﬁﬁqaﬂtﬂﬁwgﬁq(ﬁﬁﬁ@a@mm
Hifel) |

(a)
(b)

(c)

- (d)

(A)
(B)
(C)
(D)

72. 9HeA
T ?

(A)
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theT fou ged
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wieg &1 fawr fegsr oo
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Hehdl
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(1)
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TBC : 49/13/ET-III

faH
LD

P.T.O.



73.

74.

75.

In the question given below there are two statements, one labelled as Assertion

(A) and the other labelled as Reason (R)

Assertion (A) : The concepts of Tourism Area Life Cycle and Destination

Life Cycle are derived from product life cycle.

Reason (R) : But the terminology used is different as applied to desti-

nation
In the context of the two statements which of the following is correct 7
(A) Both (A) and (R) are true and (R) is correct exp.lanation of (A)
(B) Both (A) and (R) are true but (R) is not correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Financial planning is very essential for a successful tourism

development :
(A) Budget (B) Plan
(C) Programme (D) Activities

United Nations Conference on International Travel and Tourism held in Rome

in 1963 emphasised on the :

" (A) Need of ecotourism

(B) Inclusion of medical in tourism sector
(C) Environment conservation policies

(D) Need for planning in tcurism and made several recommendations
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73 99 @ muw § ol ¥ oA (U ¥ IR T @ (IW) ¥

afirerea (1) : 2foR TR AEE e SR SERH AEE qeehe i SR
Wewe @RE TEEHE d FE&H €

e (M) A ST & fo St yeSEet wEm # S ' oae fa= ®
ﬁaaﬁaﬁﬁaﬁﬁﬁqﬁa@aﬁ@muﬁ%é
(A) (T ¥R (W) =F TE T AW (W), (T) 1 TE =
® (O s () W ww ¥ e (W), (O W W e T T
(C) (Q)@%W(m)m%
D) (T) Ed ¥ A (3IM) §9
74 wEE e fawm & fou S e Tl dem afa srevTs w7
(A)  wE (B) ® W@ (I
(C) hrHwH (D)  ifafafeEt

75. dﬂﬁﬂgﬁaww@wwaﬂtmmvﬁwesﬁﬂnﬁwwﬁ

feg o w SR fe mar ?

(A) TEfERU YHe i SEYAhdl
(B) wda & # fafeew &1 ¥HEw
(©) afeRwr e Wl HfifwEl

(D) qdzy § A w1 oTEvEEal AR o wE fawRy
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